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General Instructions : 

 

Foundation Course in Humanities and Social Sciences (BSHF-101) 

Questions 1 – 100 

 

(i)  This is an objective type question paper. Options for the correct answer must be marked 

only in the OMR sheet.  

(ii)  All questions are compulsory.  

(iii)  The question paper consists of 100 questions each of which carries one mark. 

(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. of your 

correct alternative/answer below the corresponding question number in the OMR sheet 

and then mark the rectangle for the same number in that column. If you find that none 

of the given alternatives is correct, then write 0 and mark in column 0. 

(v) Do not waste time in reading the whole question paper. Go on solving questions one by 

one. You may come back to the left out questions, if you have time at the end. 



BSHF-101 3  

gm_mÝ` {ZX}e : 

 

_mZ{dH$s Am¡a gm_m{OH$ {dkmZ _| AmYma nmR>çH«$_ (~r.Eg.EM.E\$.-101) 
àíZ 1 – 100 

 

(i) `h EH$ dñVw{Zð> àíZ-nÌ h¡ & àíZm| Ho$ ghr {dH$ën Ho$db OMR erQ> _| {b{IE & 

(ii) g^r àíZ A{Zdm`© h¢ &  

(iii) Bg àíZ-nÌ _| 100 àíZ h¢ {OZ_| àË`oH$ àíZ EH$ A§H$ H$m h¡ &  

(iv) àË`oH$ àíZ Ho$ gmW Mma {dH$ën h¢, {OZ_| go EH$ ghr h¡ & Amo.E_.Ama. erQ> _| {ZX}emZwgma ghr 
{dH$ën/CÎma  H$m H«$_m§H$ g§JV àíZ g§»`m Ho$ ZrMo {bI| Am¡a {\$a Cgr H«$_m§H$ Ho$ Am`V na Cgr 
H$m°b_ _| {M• bJmE± & AJa Amn nmE± {H$ H$moB© ^r {dH$ën ghr Zht h¡ Vmo 0 {bI| Am¡a H$m°b_ 0 _| 
{M• bJmE± & 

(v) nyao àíZ-nÌ H$mo n‹T>Zo _| g_` ~~m©X _V H$s{OE & EH$ Ho$ ~mX EH$ àíZ H$mo H$aVo OmBE & `{X ~mX 
_| g_` aho, Vmo ~Mo hþE àíZm| H$mo Xþ~mam XoIm Om gH$Vm h¡ & 
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1. Tool-making and Tool-using emerged during the era of :  

(1) Advanced Primates  

(2) Homo sapiens  

(3) Neanderthals  

(4) The Peking Man 

2. Cereals were cultivated and animals were bred for the first time during :  

(1) Bronze Age 

(2) Old Stone Age 

(3) New Stone Age 

(4) Iron Age  

3. Towns emerged as the centre of several activities during : 

(1) Neolithic Period 

(2) Iron Age 

(3) New Stone Age 

(4) Bronze Age 

4. The Indus Valley Civilisation flourished during the :  

(1) Bronze Age 

(2) Golden Age 

(3) Iron Age 

(4) Silver Age 

5. In Western societies, an emergence of ‘two cultures’ had taken place. The ‘two 

cultures’ refer to :  

(1) Ancient and Medieval cultures  

(2) Urban and Rural cultures  

(3) Scientific and Moral cultures 

(4) Culture of the affluent and Culture of the indigent 
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1. CnH$aU ~ZmZo Am¡a CnH$aU BñVo_mb H$aZo H$s ewéAmV {H$g `wJ _| hþB© ?   

(1) ES>dm§g àmB_oQ²>g$ 

(2) hmo_mo go{n §̀g 

(3) {ZE§S>aWb 

(4) X nrqH$J _¡Z$ 

2. AZmO H$s IoVr VWm newnmbZ H$s ewéAmV nhbr ~ma hþB© Wr :   

(1) H$m§ñ` ẁJ _| 

(2) nyd© nmfmU `wJ _|$ 

(3) ZdnmfmU `wJ _| 

(4) bm¡h ẁJ _|  

3. ZJa {d{^Þ J{V{d{Y`m| Ho$ Ho$ÝÐ Ho$ ê$n _| C^ao :   

(1) ZdnmfmU H$mb _| 

(2) bm¡h ẁJ _| 

(3) ZdnmfmU `wJ _| 

(4) H$m§ñ` ẁJ _| 

4. qgYw KmQ>r gä`Vm H$m CX` hþAm : 

(1) H$m§ñ` ẁJ _| 

(2) ñdU© ẁJ _| 

(3) bm¡h ẁJ _| 

(4) aOV ẁJ _| 

5. npíM_r g_mOm| _| ‘Xmo g§ñH¥${V`m|’ H$m CX` hþAm Wm, ‘Xmo g§ñH¥${V`m±’ aoIm§{H$V H$aVr h¢ : 

(1) àmMrZ VWm _Ü`H$mbrZ g§ñH¥${V 

(2) ehar VWm J«m_rU g§ñH¥${V 

(3) d¡km{ZH$ VWm Z¡{VH$ g§ñH¥${V  

(4) g_¥Õ g_mO H$s g§ñH¥${V VWm X[aÐ g_mO H$s g§ñH¥${V  
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6. Which of the following classes did not exist in European feudal societies ?  

(1) Clergy  

(2) Nobility 

(3) Middle Class 

(4) Peasantry  

7. Which of the following is not true of the Renaissance ?  

(1) It contributed to the development of secular ideas.  

(2) It contributed to ‘humanism’. 

(3) It revived interest in the ancient civilisations of Greece and Rome. 

(4) It led to a decline in literature.  

8. Which of the following took place with the emergence of capitalism ? 

(1) The guild system replaced the putting-out system.  

(2) International trade was dominated by Russia which replaced Spain and Holland 

as the dominant nation. 

(3) Money began to be invested to make more money.  

(4) Use of machinery declined. 

9. In the ancient Western World the language of scholarship was :   

(1) Italian 

(2) French  

(3) German  

(4) Latin  

10. In the early phase of the emergence of the Renaissance, the language of philosophy 

and science was :  

(1) Italian 

(2) French 

(3) Latin  

(4) Hebrew  
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6. {ZåZ{b{IV _| go H$m¡Z-gm dJ© `yamonr` gm_§Vr g_mOm| _| em{_b Zht  Wm ? $  

(1) nmXar (nwamo{hV-dJ©) 

(2) Hw$brZ 

(3) _Ü`_ dJ© 

(4) {H$gmZ  

7. {ZåZ{b{IV _| go H$m¡Z-gm nwZOm©JaU Ho$ ~mao _| gË` Zht  h¡ ?   

(1) BgZo Y_©{Zanoj {dMmam| Ho$ {dH$mg _| `moJXmZ {X`m & 

(2) BgZo ‘_mZdVmdmX’ _| `moJXmZ {X`m &$ 

(3) BgZo J«rg VWm amo_ H$s àmMrZ gä`VmAm| _| é{M nwZOu{dV H$s &  

(4) Bggo gm{hË` _| {JamdQ> AmB© & 

8. {ZåZ{b{IV _| go H$m¡Z-gm ny±OrdmX Ho$ CX` Ho$ gmW hþAm Wm ?   

(1) {JëS> {gñQ>_ Zo nwqQ>J-AmCQ> {gñQ>_ H$mo ~Xb {X`m &  

(2) ñnoZ VWm hm°b¡ÊS> H$m A§Vam©îQ́>r` ì`mnma na à^wËd Wm, {Og na ê$g Zo dM©ñd H$m`_ {H$`m &  

(3) n¡gm A{YH$ ~ZmZo Ho$ {bE ny±Or Ho$ {Zdoe H$s ewéAmV hþB© &  

(4) _erZar Ho$ Cn`moJ _| {JamdQ hþB© & 

9. àmMrZ npíM_r Xþ{Z`m _| N>mÌd¥{Îm ({dÛVm) H$s ^mfm Wr :  

(1) BQ>m{b`Z  

(2) \«|$M 

(3) O_©Z  

(4) b¡{Q>Z  

10. nwZOm©JaU Ho$ CX²^d Ho$ àma§{^H$ MaUm| _| Xe©Z VWm {dkmZ H$s ^mfm Wr :   

(1) BQ>m{b`Z 

(2) \«|$M 

(3) b¡{Q>Z 

(4) {h~«y 
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11. Of all the art forms, Renaissance’s supreme achievement was in :  

(1) Painting 

(2) Sculpture 

(3) Architecture  

(4) Music  

12. The dominant philosophical system of the pre-Renaissance medieval Europe was :   

(1) Scholasticism  

(2) Inductivism  

(3) Logical Positivism  

(4) Empiricism  

13. The style of architecture which had dominated the buildings of churches and 

cathedrals in the twelfth and thirteenth centuries in Europe was :    

(1) Baroque 

(2) Gothic  

(3) Rococo 

(4) Fresco  

14. The author of the book, ‘‘On the Revolutions of the Celestial Orbs’’ was :   

(1) Aristotle  

(2) Kepler 

(3) Galileo 

(4) Copernicus  

15. Who among the following was the first to successfully circumnavigate the world ? 

(1) Columbus  

(2) Magellan 

(3) Bartholomew Diaz 

(4) Vasco da Gama 
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11. g^r H$bm ê$nm| _| go, nwZOm©JaU H$s gdm}ƒ CnbpãY Wr :   

(1) {MÌH$bm _| 

(2) _y{V©H$bm _| 

(3) dmñVwH$bm _| 

(4) g§JrV _|  

12. nwZOm©JaU Ho$ nyd© _Ü`H$mbrZ `yamon H$s à_wI Xme©{ZH$ ì`dñWm (Philosophical System) Wr :   

(1) {dÛVmdmX (Scholasticism)  

(2) àoaUdmX (AmJ_ZdmX) (Inductivism) $ 

(3) Vm{H©$H$ gH$mamË_H$dmX (Logical positivism) 

(4) AZw^ddmX (Empiricism) 

13. 12dt VWm 13dt eVmpãX`m| _| `yamon _| dmñVwH$bm H$s e¡br Omo {JaOmKam| VWm MMm] Ho$ {Z_m©U na hmdr  
Wr :   

(1) ~amoH$ (Baroque) 

(2) Jm°{WH$ (Gothic)  

(3) amoH$moH$mo (Rococo) 

(4) \«o$ñH$mo (Fresco)$ 

14. nwñVH$ ‘‘On the Revolutions of the Celestial Orbs’’ (Am°Z X [admoë`yeÝg Am°\$ X gobopñQ>`b 
Am°ãg©) Ho$ boIH$ Wo :    

(1) AañVw$ 

(2) Ho$ßba 

(3) J¡br{b`mo 

(4) H$mona{ZH$g  

15. {ZåZ{b{IV _| go H$m¡Z {díd H$m g\$bVmnyd©H$ ObnW go n[aH«$_m H$aZo dmbm nhbm ì`{º$ Wm ?   

(1) H$mob§~g 

(2) _oJobZ 

(3) ~mWm}bmoå`y {S>`mµO 

(4) dmñH$mo {S> Jm_m 
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16. Slave trade started in the late :  

(1) Twelfth century   

(2) Fourteenth century 

(3) Fifteenth century  

(4) Seventeenth century  

17. The term ‘Post-industrial society’ is most closely associated with : 

(1) Karl Polanyi 

(2) Paul Baran 

(3) Alvin Toffler  

(4) Daniel Bell 

18. Which of the following words means something abstract and supernatural ? 

(1) Transcendental  

(2) Pseudo  

(3) Zymurgy 

(4) Serendipity  

19. India’s trade in pre-colonial times was characterized by :   

(1) Import of cotton textile  

(2) Export of tea  

(3) Unfavourable balance of trade  

(4) Favourable balance of trade   

20. The first President of the Indian National Congress was : 

(1) Dadabhai Naoroji 

(2) A.O. Hume 

(3) W.C. Bonnerjee  

(4) H.V. Derozio 
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16. Xmg ì`mnma ewê$ hþAm :   

(1) 12dt eVmãXr Ho$ CÎmamY© _| 

(2) 14dt eVmãXr Ho$ CÎmamY© _| 

(3) 15dt eVmãXr Ho$ CÎmamY© _| 

(4) 17dt eVmãXr Ho$ CÎmamY© _| 

17. ‘Post-industrial society’ (CÎma-Am¡Úmo{JH$ g_mO) eãX g~go A{YH$ {H$ggo g§~§{YV h¡ ?  

(1) H$mb© nmobmÝ`r 

(2) nm°b ~¡aoZ$ 

(3) EpëdZ Q>m°\$ba 

(4) S>o{Z`b ~ob  

18. {ZåZ{b{IV _| go {H$g eãX H$m AW© Hw$N> A_yV© VWm Abm¡{H$H$ h¡ ?   

(1) Transcendental (Q´>mÝgoZS>|Q>b) 

(2) Pseudo (ñ`yS>mo) 

(3) Zymurgy$ (µOmB_Ju) 

(4) Serendipity  (goa|{S>{nQ>r) 

19. nyd© Am¡n{Zdo{eH$ H$mb _| ^maV Ho$ ì`mnma H$s {deofVm Wr : 

(1) gyVr dñÌm| H$m Am`mV 

(2) Mm` H$m {Z`m©V 

(3) ì`mnma H$m à{VHy$b g§VwbZ 

(4) ì`mnma H$m AZwHy$b g§VwbZ  

20. ^maVr` amîQ´>r` H$m±J«og Ho$ àW_ AÜ`j Wo :   

(1) XmXm^mB© Zm¡amoOr 

(2) E.Amo. øy_ 

(3) S>ãë`y. gr. ~ZOu 

(4) EM.dr. S>oamo{µO`mo 
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21. The British East India Company got a legal charter for trade from the British Crown 

in :  

(1) 1600 

(2) 1776 

(3) 1757 

(4) 1800 

22. The Land revenue system that was implemented in Madras Presidency by the British 

was : 

(1) Permanent Settlement  

(2) Zamindari System 

(3) Mahalwari System  

(4) Ryotwari System  

23. Which one of the following statements is true ?  

(1) The British Colonial State was a Laissez Faire State.  

(2) The industrialisation of England was largely responsible for the 

industrialisation of India. 

(3) The British Colonial State integrated the Indian economy with the world 

colonial economy.  

(4) Indian agriculture remained unchanged from pre-colonial to colonial period.  

24. Which one of the following was not a factor responsible for the commercialisation of 

Indian agriculture under British rule ?   

(1) Rapid development of Railways  

(2) Sharp increase in the productivity of land  

(3) The opening of the Suez Canal   

(4) Increase in the export of raw cotton from India following the US Civil War 

25. Which one of the following was a legacy of the colonial rule ?  

(1) The creation of a legal, communications and transport network 

(2) Dependence of the bulk of the population on the manufacturing sector  

(3) Rising per-capita national income  

(4) Highly developed services sector  
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21. ì`mnma Ho$ {bE {~«{Q>e B©ñQ> B§{S>`m H§$nZr H$mo {~«{Q>e H«$mCZ go H$mZyZr MmQ>©a {_bm Wm : 

(1) 1600 _| 

(2) 1776 _| 

(3) 1757$_| 

(4) 1800 _| 

22. dh ^y-amOñd àUmbr {Ogo {~«{Q>e Ûmam _Ðmg àogrS>|gr _| bmJy H$s JB© Wr :   

(1) ñWm`r ~§Xmo~ñV 

(2) µO_tXmar àWm $ 

(3) _hbdmar ì`dñWm $ 

(4) a¡`Vdm‹S>r ì`dñWm $ 

23. {ZåZ{b{IV _| go H$m¡Z-gm H$WZ gË` h¡ ?   

(1) {~«{Q>e Am¡n{Zdo{eH$ amÁ` EH$ hñVjon-a{hV (Laissez Faire) amÁ` Wm &  

(2) B§½b¢S> H$m Am¡ÚmoJrH$aU ^maV Ho$ Am¡ÚmoJrH$aU Ho$ {bE H$m\$s hX VH$ {µOå_oXma Wm &  

(3) {~«{Q>e Am¡n{Zdo{eH$ amÁ` Zo ^maVr` AW©ì`dñWm H$mo {díd Am¡n{Zdo{eH$ AW©ì`dñWm Ho$ gmW 
EH$sH¥$V {H$`m &  

(4) nyd© Cn{Zdoe go Am¡n{Zdo{eH$ H$mb VH$ ^maVr` H¥${f An[ad{V©V ahr &  

24. {ZåZ{b{IV _| go H$m¡Z-gm EH$ H$maU {~«{Q>e emgZ Ho$ Xm¡amZ ^maVr` H¥${f Ho$ ì`dgm`rH$aU Ho$ {bE 
CÎmaXm`r Zht  Wm ?  

(1) aobdo H$m VoOr go {dH$mg  

(2) ^y{_ H$s CËnmXH$Vm _| Vrd« d¥{Õ  

(3) ñdoµO Zha H$m CX²KmQ>Z  

(4) A_o[aH$s J¥h ẁÕ (US Civil War) Ho$ ~mX ^maV go H$ƒo _mb (H$nmg) Ho$ {Z`m©V _o| d¥{Õ  

25. {ZåZ{b{IV _| go H$m¡Z-gr Am¡n{Zdo{eH$ emgZ H$s {damgV Wr ?   

(1) H$mZyZr, g§Mma VWm n[adhZ ZoQ>dH©$ H$m {Z_m©U H$aZm   

(2) {d{Z_m©U joÌ na ~‹S>r Am~mXr H$s {Z^©aVm  

(3) à{V ì`{º$ amîQ´>r` Am` _|§ d¥{Õ 

(4) AË`{YH$ {dH${gV godm joÌ  
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26. Which of the following was not a core value of the Indian National Movement ?  

(1) Regionalism  

(2) Internationalism 

(3) Secularism  

(4) Self-reliance  

27. The set of social positions in society is called :  

(1) Class 

(2) Status  

(3) Social system  

(4) Social structure  

28. Auguste Comte’s approach to social change is an example of : 

(1) Evolutionary theory 

(2) Structural-Functional theory  

(3) Conflict theory  

(4) Cyclical theory  

29. The status that a person inherits at birth is called :  

(1) Natural status  

(2) Role status 

(3) Achieved status 

(4) Ascribed status 

30. Which of the following is true ?  

(1) Social structures are permanent and they never change.  

(2) Social structures do not have a pattern. 

(3) Kingsley Davis belongs to the conflict school. 

(4) According to the conflict school inequality occurs in society because of the vested 

interests of the wealthy.  
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26. {ZåZ{b{IV _| go H$m¡Z-gm ^maVr` amîQ´>r` Am§XmobZ H$m Ho$ÝÐr` _yë` Zht  Wm ?   

(1) joÌdmX  

(2) A§Vam©îQ́>r`dmX 

(3) Y_©{ZanojVm  

(4) AmË_{Z^©aVm 

27. g_mO _| gm_m{OH$ pñW{V Ho$ g_wƒ` H$mo H$hm OmVm h¡ :   

(1) dJ©  

(2) ñVa$ 

(3) gm_m{OH$ ì`dñWm  

(4) gm_m{OH$ T>m±Mm 

28. AJñV H$m°åQ>o Ho$ Ñ{îQ>H$moU go gm_m{OH$ n[adV©Z H$m EH$ CXmhaU h¡ :   

(1) {dH$mgdmXr {gÕm§V (Evolutionary theory)  

(2) g§aMZmË_H$-H$m`m©Ë_H$ {gÕm§V $ 

(3) g§Kf© {gÕm§V (Conflict Theory) 

(4) MH«$s` {gÕm§V  

29. dh pñW{V Omo ì`{º$ H$mo OÝ_ Ho$ g_` {damgV _| {_bVr h¡, H$hbmVr h¡ :  

(1) àmH¥${VH$ pñW{V (Natural status)  

(2) ^y{_H$m H$s pñW{V (Role status)  

(3) gm{YV pñW{V (Achieved status)  

(4) àXÎm pñW{V (Ascribed status) 

30. {ZåZ{b{IV _| go H$m¡Z-gm gË` h¡ ?  

(1) gm_m{OH$ T>m±Mo ñWm`r hmoVo h¢ VWm do H$^r Zht ~XbVo & 

(2) gm_m{OH$ T>m±Mm| _| EH$ n¡Q>Z© Zht hmoVm &  

(3) qH$½gbo (Kingsley) S>o{dg g§Kf© ñHy$b (conflict school) go g§~§{YV h¡ &  

(4) H$m°Z²pâbŠQ> ñHy$b (conflict school) Ho$ AZwgma A_ram| Ho$ {Z{hV ñdmWm] Ho$ H$maU g_mO _|§ 
Ag_mZVm h¡ &  
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31. A type of marriage where a woman has more than one husband is :  

(1) Polygyny 

(2) Monogamy  

(3) Polyandry 

(4) Exogamy  

32. The concept of Alienation is associated with : 

(1) Comte  

(2) Weber 

(3) Marx  

(4) Parsons  

33. Who among the following distinguished the three types of authority ?  

(1) Weber  

(2) Spencer  

(3) Durkheim  

(4) Davis  

34. Which of the following was not a characteristic of the Industrial Revolution ? 

(1) Machines replacing human and animal power 

(2) Increasing number of inventions  

(3) Use of robots  

(4) Emergence of a working class  

35. Which of the following Commissions was constituted to identify and prepare a list of 

Other Backward Classes (OBCs) in 1953 ? 

(1) Balwant Rai Mehta Commission  

(2) Kaka Kalelkar Commission  

(3) Mandal Commission 

(4) Antrolikar Commission  
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31. EH$ àH$ma H$m {ddmh {Og_| EH$ _{hbm Ho$ EH$ go A{YH$ n{V hmoVo h¢ :   

(1) nm°{bJmBZr 

(2) _moZmoJ¡_r 

(3) nm°{bEÊS´>r 

(4) EŠgmoJ¡_r 

32. AbJmd H$s AdYmaUm (Concept of Alienation) g§~§{YV h¡ :   

(1) H$m°åQ>o go 

(2) do~a$go 

(3) _mŠg© go 

(4) nmg©Ýg go 

33. {ZåZ{b{IV _| go {H$ZH$mo VrZ àH$ma Ho$ àm{YH$ma H$mo à{V{ð>V H$aZo Ho$ {bE OmZm OmVm h¡ ?   

(1) do~a 

(2) ñn|ga 

(3) XþIv_  

(4) S>o{dg 

34. {ZåZ{b{IV _| go H$m¡Z-gr Am¡Úmo{JH$ H«$m§{V H$s {deofVm Zht  Wr ?  

(1) _erZm| Zo _mZd VWm OmZdam| H$s e{º$ H$s OJh bo br  

(2) Am{dîH$mam| H$s ~‹T>Vr g§»`m  

(3) amo~moQ>m| H$m Cn`moJ 

(4) H$m_H$mOr dJ© (Working Class) H$m CX²^d 

35. {ZåZ{b{IV _| go {H$g Am`moJ H$m JR>Z AÝ` {nN>‹S>m dJm] (OBCs) H$s gyMr V¡̀ ma H$aZo Ho$ {bE  
1953 _| {H$`m J`m Wm ?   

(1) ~bd§V am` _ohVm Am`moJ 

(2) H$mH$m H$mbobH$a Am`moJ 

(3) _§S>b Am`moJ  

(4) A§Ìmo{bH$a Am`moJ 
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36. Jyotiba Phule was known for which of the following ?  

(1) Organising temple entry by Dalits   

(2) Constituting the Bahishkrit Hitakarini Sabha 

(3) Reinterpreting Puranic mythology from the perspective of the socially distressed   

(4) Working for establishing political autonomy of tribal communities  

37. The spread of culture traits from group to group is called : 

(1) Osmosis 

(2) Contagion  

(3) Imitation  

(4) Diffusion  

38. Theories of social change that claim that there is stability and order in society though 

changes do occur occasionally are called :  

(1) Evolutionary theories  

(2) Cyclical theories  

(3) Conflict theories  

(4) Structural-Functional theories  

39. The belief that one’s own time, the present, or the contemporary, are more important 

than the past or future, is called :  

(1) Anachronism  

(2) Chromaticism  

(3) Tempero-centrism  

(4) Inter-temporalism  

40. The society with the simplest Division of Labour is :  

(1) Hunting and gathering society   

(2) Pastoral and horticultural society  

(3) Agrarian society 

(4) Industrial society  
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36. Á`mo{V~m \w$bo {ZåZ{b{IV _| go {H$gHo$ {bE OmZo OmVo Wo ?   

(1) X{bVm| Ûmam _§{Xa àdoe H$m Am`moOZ H$aZo  

(2) ~{hîH¥$V {hVH$m[aUr g^m H$m JR>Z H$aZo  

(3) gm_m{OH$ ê$n go d§{MVm| Ho$ Ñ{îQ>H$moU go nm¡am{UH$ H$WmAm| H$s nwZì`m©»`m H$aZo  

(4) Am{Xdmgr g_wXm`m| Ho$ {bE amOZr{VH$ ñdm`ÎmVm ñWm{nV H$aZo Ho$ {bE H$m_ H$aZo  

37. g_yh go g_yh _| g§ñH¥${V Ho$ bjUm| H$m \¡$bZm H$hbmVm h¡ :   

(1) Amog_mo{gg (Osmosis) 

(2) Ny>V (Contagion)$ 

(3) AZwH$aU (Imitation)$ 

(4) àgma (Diffusion) 

38. gm_m{OH$ n[adV©Z Ho$ {gÕm§V Omo `h Xmdm H$aVo h¢ {H$ g_`-g_` na hmoZo dmbo n[adV©Zm| Ho$ gmW-gmW  
g_mO _| pñWaVm Am¡a ì`dñWm hmoVr h¡, dh H$hbmVo h¢ :   

(1) {dH$mgdmXr {gÕm§V (Evolutionary theories) 

(2) MH«$s` {gÕm§V (Cyclical theories) 

(3) g§Kf© {gÕm§V (Conflict theories)$ 

(4) g§aMZmË_H$-H$m`m©Ë_H$ {gÕm§V (Structural-Functional theories)$ 

39. H$hm OmVm h¡ {H$ {H$gr H$m g_`, dV©_mZ `m g_H$mbrZ, AVrV `m ^{dî` go A{YH$ _hÎdnyU© h¡; `h 
_V H$hbmVm h¡ :   

(1) H$mb^«_ (Anachronism)  

(2) dU©dmX> (Chromaticism) 

(3) Q>oånoamo-g|{Q´>µÁ_ (Tempero-centrism)  

(4) A§Va-AñWm`rdmX (Inter-temporalism)  

40. l_ Ho$ g~go gab {d^mOZ dmbm g_mO h¡ :   

(1) {eH$mar VWm g§J«hU g_mO (Hunting and gathering society) 

(2) newMmar VWm ~mJdmZr g_mO 

(3) H¥${fH$ g_mO  

(4) Am¡Úmo{JH$ g_mO  
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41. The Kesavananda Bharati case is related to :   

(1) Fundamental Rights  

(2) Directive Principles  

(3) Basic Structure of the Constitution  

(4) Independence of the Judiciary  

42. The Directive Principles of State Policy are an influence of : 

(1) The British Constitution  

(2) The French Constitution  

(3) The American Constitution 

(4) The Irish Constitution   

43. The Head of Government in India is : 

(1) The President  

(2) The Prime Minister  

(3) The Judiciary  

(4) The Council of Ministers  

44. Which of the following is not a Fundamental Right in a strict sense ? 

(1) Right to Freedom  

(2) Right Against Exploitation  

(3) Right to Equality  

(4) Right to Property  

45. The Venkatachaliah Commission was set up to : 

(1) Review the working of the Judiciary  

(2) Review the working of the Constitution  

(3) Suggest administrative reforms  

(4) Review Centre-State relations  
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41. Ho$gdmZ§X ^maVr Ho$g g§~§{YV h¡ :   

(1) _m¡{bH$ A{YH$mam| go  

(2) {ZXoeH$ {gÕm§Vm| (Directive Principles) go  

(3) g§{dYmZ H$s _yb g§aMZm go 

(4) Ý`m`nm{bH$m H$s ñdV§ÌVm go 

42. amÁ` Ho$ Zr{V {ZXoeH$ {gÕm§V {H$ggo à^m{dV h¢ ?  

(1) {~«{Q>e g§{dYmZ  

(2) \«$m§grgr g§{dYmZ $ 

(3) A_o[aH$s g§{dYmZ  

(4) Am`[ae g§{dYmZ  

43. ^maV _| gaH$ma H$m _w{I`m hmoVm h¡ :   

(1) amîQ´>n{V  

(2) àYmZ _§Ìr  

(3) Ý`m`nm{bH$m 

(4) _§{Ìn[afX 

44. {ZåZ{b{IV _| go H$m¡Z-gm ghr AWm] _| _m¡{bH$ A{YH$ma Zht  h¡ ?  

(1) ñdV§ÌVm H$m A{YH$ma  

(2) emofU Ho$ {déÕ A{YH$ma  

(3) g_mZVm H$m A{YH$ma  

(4) gån{Îm H$m A{YH$ma  

45. d|H$Q>Mob¡`m Am`moJ H$s ñWmnZm H$s JB© Wr :   

(1) Ý`m`nm{bH$m H$s H$m ©̀àUmbr H$s g_rjm H$aZo Ho$ {bE  

(2) g§{dYmZ Ho$ H$m_H$mO H$s g_rjm H$aZo Ho$ {bE  

(3) àemg{ZH$ gwYmam| Ho$ gwPmd XoZo Ho$ {bE  

(4) Ho$ÝÐ-amÁ` g§~§Ym| H$s g_rjm H$aZo Ho$ {bE  
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46. What type of democracy does India not have ?  

(1) Indirect Democracy  

(2) Elective Democracy 

(3) Direct Democracy  

(4) Representative Democracy 

47. Which of the following are not part of civil society ?  

(1) Non-Government Organisations 

(2) Pressure Groups 

(3) Lobbies  

(4) Panchayats  

48. Which of the following means ‘rich middle class’ ? 

(1) Bourgeois  

(2) Kulaks 

(3) Proletariat  

(4) Hoi Polloi 

49. The Administrative Reforms Commission (ARC) was set up in :   

(1) 1957 

(2) 1966 

(3) 1985 

(4) 1991 

50. On the basis of the recommendations of the ARC, which of the following was created ?  

(1) Central Vigilance Commission   

(2) Lokayukta 

(3) Department of Personnel  

(4) Lokpal 
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46. ^maV _| {H$g àH$ma H$m bmoH$V§Ì Zht  h¡ ?   

(1) AàË`j bmoH$V§Ì 

(2) {Zdm©{MV bmoH$V§Ì 

(3) àË`j bmoH$V§Ì 

(4) à{V{Z{YH$ bmoH$V§Ì 

47. {ZåZ{b{IV _| go H$m¡Z ZmJ[aH$ g_mO H$m {hñgm Zht  h¢ ?   

(1) µJ¡a-gaH$mar g§JR>Z  

(2) X~md g_yh 

(3) bm°~r 

(4) n§Mm`V 

48. {ZåZ{b{IV _| go {H$gH$m AW© ‘g_¥Õ _Ü`_ dJ©’ h¡ ?   

(1) ny±Orn{V (Bourgeois)  

(2) Hy$bH$ (Kulaks) 

(3) gd©hmam (Proletariat)  

(4) hm°B© nm¡bB© (Hoi Polloi)  

49. àemg{ZH$ gwYma Am`moJ (ARC) H$m JR>Z {H$`m J`m Wm :  

(1) 1957 _| 

(2) 1966 _| 

(3) 1985 _| 

(4) 1991 _| 

50. E.Ama.gr. (ARC) H$s {g\$m[aem| Ho$ AmYma na, {ZåZ{b{IV _| go {H$gH$s ñWmnZm H$s JB© Wr ?   

(1) Ho$ÝÐr` gVH©$Vm Am`moJ 

(2) bmoH$m`wº$ 

(3) H$m{_©H$ {d^mJ 

(4) bmoH$nmb 
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51. Which of the following is not a Line Agency ? 

(1) Departments of Ministries  

(2) Public Enterprises  

(3) Sessions Courts  

(4) Boards and Commissions  

52. Which of the following is not true of Indian democracy ?  

(1) Presidential system of government  

(2) Cooperative federalism   

(3) Autonomous Election Commission  

(4) Local self-governing institutions  

53. Panchayati Raj Bodies were set up for the first time on the recommendations of the  

(1) Ashoka Mehta Committee  

(2) Balwant Rai Mehta Committee 

(3) Sukhamoy Chakravarty Committee 

(4) C. Rangarajan Committee 

54. Who condensed the duties of an administrator in the famous acronym of  

POSDCORB ?  

(1) Woodrow Wilson  

(2) Herbert Simon  

(3) L.D. White  

(4) Luther Gullick  

55. Which State Government initiated the ‘‘Bhagidari’’ (Partnership) project in the year 

2000 ? 

(1) Madhya Pradesh 

(2) Delhi 

(3) Haryana 

(4) Bihar  
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51. {ZåZ{b{IV _| go H$m¡Z-gm EH$ bmBZ EO|gr Zht  h¡ ?   

(1) _§Ìmb`m| Ho$ {d^mJ  

(2) gmd©O{ZH$ CÚ_  

(3) gÌ Ý`m`mb`  

(4) ~moS>© Am¡a H$_reZ 

52. {ZåZ{b{IV _| go H$m¡Z-gm ^maVr` bmoH$V§Ì Ho$ {bE ghr Zht  h¡ ?   

(1) gaH$ma H$s amîQ´>n{V (AÜ`jr`) àUmbr 

(2) ghH$mar g§KdmX$ 

(3) ñdV§Ì MwZmd Am`moJ  

(4) ñWmZr` ñdemgr g§ñWmZ  

53. {H$gH$s AZwe§gmAm| na n§Mm`Vr amO g§ñWmAm| H$m nhbr ~ma JR>Z {H$`m J`m ?   

(1) AemoH$ _ohVm g{_{V 

(2) ~bd§V am` _ohVm g{_{V  

(3) gwI_mo` MH«$dVu g{_{V  

(4) gr. a§JamOZ g{_{V  

54. {H$gZo àemgH$ Ho$ H$V©ì`m| H$mo à{gÕ n[adUu eãXm| _| ‘‘POSDCORB’’ go n[a^m{fV {H$`m Wm ?  

(1) dwS>amo {dëgZ  

(2) h~©Q>© gmB_Z 

(3) Eb.S>r. ìhmBQ> 

(4) byWa Jw{bH$  

55. {H$g amÁ` gaH$ma Zo df© 2000 _| ‘‘^mJrXmar’’ (gmPoXmar) n[a`moOZm ewê$ H$s ?    

(1) _Ü` àXoe  

(2) {Xëbr 

(3) h[a`mUm  

(4) {~hma 
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56. In the third stage of demographic transition, a country has :  

(1) only high death rates  

(2) only high birth rates  

(3) low death rates, but high birth rates  

(4) low death rates and low birth rates  

57. The type of unemployment observed in agricultural sector in India is :   

(1) Disguised unemployment 

(2) Structural unemployment 

(3) Open unemployment 

(4) Cyclical unemployment 

58. Big Push Theory of economic development is attributed to : 

(1) W.W. Rostow  

(2) Ragnar Nurkse  

(3) V.K.R.V. Rao 

(4) Rosenstein-Rodan  

59. The Second Five-Year Plan emphasized on :  

(1) Heavy industries  

(2) Agricultural development 

(3) Small and Medium Scale Enterprises  

(4) The Services sector  

60. The secondary sector includes :  

(1) Agriculture, Forestry, Fishing  

(2) Mining and Manufacturing  

(3) Communication, IT 

(4) Trade, Transport, etc.  
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56. OZgm§p»`H$s` g§H«$_U Ho$ Vrgao MaU _|, EH$ Xoe H$s  :  

(1) Ho$db Cƒ _¥Ë ẁ Xa| hmoVr h¢    

(2) Ho$db Cƒ OÝ_ Xa| hmoVr h¢   

(3) {ZåZ _¥Ë`w Xa|, bo{H$Z Cƒ OÝ_ Xa| hmoVr h¢    

(4) {ZåZ _¥Ë`w Xa| Am¡a {ZåZ OÝ_ Xa| hmoVr h¢   

57. ^maV Ho$ H¥${f joÌ _| XoIr OmZo dmbr ~oamoµOJmar H$m àH$ma h¡ :   

(1) àÀN>Þ ~oamoµOJmar  

(2) g§aMZmË_H$ ~oamoµOJmar$ 

(3) Iwbr ~oamoµOJmar 

(4) MH«$s` ~oamoµOJmar 

58. Am{W©H$ {dH$mg H$s {~J nwe Ï`moar (Big Push Theory) H$m lo` {X`m J`m h¡ :    

(1) S>ãë`y.S>ãë`y. amoñVmo (W.W. Rostow) H$mo  

(2) aoJZma ZH©$go (Ragnar Nurkse) H$mo  

(3) dr.Ho$.Ama.dr. amd (V.K.R.V. Rao) H$mo 

(4) amogoZñQ>rZ-amoS>m± (Rosenstein-Rodan) H$mo 

59. {ÛVr` n§Mdfu` `moOZm _| ~b {X`m J`m : 

(1) ^mar CÚmoJm| na 

(2) H¥${f {dH$mg na 

(3) N>moQ>o Am¡a _Ü`_ ñVa Ho$ CÚ_m| na  

(4) godm joÌ na 

60. {ÛVr`H$ joÌ _| em{_b h¢ (The secondary sector includes) :   

(1) H¥${f, dm{ZH$s, _Ëñ`-nmbZ (Agriculture, Forestry, Fishing) 

(2) IZZ Am¡a {d{Z_m©U (Mining and Manufacturing)  

(3) g§Mma Am¡a gyMZm àm¡Úmo{JH$s (Communication, IT) 

(4) ì`mnma, n[adhZ, BË`m{X (Trade, Transport, etc.)$ 
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61. The Green Revolution of the mid-1960s : 

(1) increased the yield of wheat  

(2) was brought about by small farmers  

(3) reduced the inequality in the distribution of wealth  

(4) introduced feudal relations in agriculture  

62. Who among the following was the first to advocate ‘‘planning’’ as a development 

strategy for India ? 

(1) Dadabhai Naoroji 

(2) Mahatma Gandhi  

(3) Jawaharlal Nehru  

(4) Sardar Vallabhbhai Patel  

63. The term ‘commanding heights’ of the economy refers to : 

(1) Cottage industries  

(2) Export processing zones  

(3) Information and Communication Technology  

(4) Heavy industries, Infrastructure and Defence production    

64. Over the period 1950 – 1970, the biggest provider of employment in India was : 

(1) The Railways 

(2) Banks and Insurance  

(3) Agriculture  

(4) Manufacturing  

65. Total amount of final goods and services produced within the geographical territory of 

the country is called : 

(1) Gross Domestic Product  

(2) Net Domestic Product  

(3) National Income  

(4) Net National Product  
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61. 1960 Ho$ _Ü` H$s h[aV H«$m§{V : $  

(1) go Johÿ± H$s CnO _| d¥{Õ hþB© 

(2) N>moQ>o {H$gmZm| Ûmam bm`r JB© Wr  

(3) Zo YZ Ho$ {dVaU _| Ag_mZVm H$mo H$_ {H$`m   

(4) Zo H¥${f _| gm_§Vr g§~§Ym| H$s ewéAmV H$s  

62. {ZåZ{b{IV _| go {H$gZo g~go nhbo ‘‘`moOZm’’ H$s dH$mbV ^maV Ho$ {bE {dH$mg H$s aUZr{V Ho$ ê$n _| 
H$s Wr ?  

(1) XmXm^mB© Zm¡amoOr 

(2) _hmË_m Jm±Yr $ 

(3) Odmhabmb Zohê$ 

(4) gaXma dëb^^mB© nQ>ob 

63. AW©ì`dñWm H$s Hw$N> ‘C„oIZr` CnbpãY`m±’ Xem©Vo h¢ :   

(1) Hw$Q>ra CÚmoJ 

(2) {Z`m©V àg§ñH$aU joÌ  

(3) gyMZm VWm g§Mma àm¡Úmo{JH$s  

(4) ^mar CÚmoJ, ~w{Z`mXr T>m±Mm Am¡a ajm CËnmXZ 

64. 1950 – 1970 H$s Ad{Y _|, ^maV _| amoµOJma XoZo dmbm g~go ~‹S>m àXmVm Wm :  

(1) aobdo 

(2) ~¢H$ Am¡a ~r_m 

(3) H¥${f 

(4) {d{Z_m©U (Manufacturing)  

65. Xoe Ho$ ^m¡Jmo{bH$ joÌ _| CËnm{XV dñVwAm| Am¡a godmAm| H$s Hw$b _mÌm H$mo Š`m H$hVo h¢ ?   

(1) gH$b Kaoby CËnmX (Gross Domestic Product)  

(2) ewÕ Kaoby CËnmX (Net Domestic Product)  

(3) amîQ´>r` Am` (National Income) 

(4) ewÕ amîQ´>r` CËnmX (Net National Product)  
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66. The Mahalanobis Model formed the basis of the   

(1) First Five Year Plan 

(2) Second Five Year Plan  

(3) Fourth Five Year Plan 

(4) Seventh Five Year Plan  

67. An economic system where public and private sectors coexist is called :  

(1) Public Private Partnership 

(2) Dual Economy  

(3) Joint Venture  

(4) Mixed Economy  

68. The difference between what is earned and what is spent is known as :  

(1) Investment  

(2) Saving  

(3) Subsidy  

(4) Depreciation  

69. A synonym for privatisation is : 

(1) Disinvestment 

(2) Dissaving  

(3) Auction  

(4) Capitalisation  

70. In order to review Centre-State financial relations and provide suggestions, a Finance 

Commission is set up every : 

(1) Two years  

(2) Five years 

(3) Seven years  

(4) Ten years  
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66. _hbZmo{~g _m°S>b (The Mahalanobis Model) Zo {H$gH$m AmYma ~Zm`m ?   

(1) nhbr n§Mdfu` `moOZm  

(2) Xÿgar n§Mdfu` `moOZm 

(3) Mm¡Wr n§Mdfu` `moOZm 

(4) gmVdt n§Mdfu` `moOZm 

67. EH$ Am{W©H$ àUmbr Ohm± gmd©O{ZH$ VWm {ZOr> joÌ gh-ApñVËd _| h¢, H$hbmVr h¡ :   

(1) gaH$mar-{ZOr H§$nZr ^mJrXmar  

(2) Xmohar AW©ì`dñWm (Dual Economy)  

(3) g§`wº$ CÚ_ 

(4) {_{lV AW©ì`dñWm  

68. Omo A{O©V {H$`m OmVm h¡ VWm Omo IM© {H$`m OmVm h¡, CZHo$ ~rM Ho$ A§Va H$mo Š`m H$hm OmVm h¡ ?   

(1) {Zdoe (Investment) 

(2) ~MV (Saving)$ 

(3) gpãgS>r (Subsidy)  

(4) _yë`õmg (Depreciation) 

69. {ZOrH$aU H$m n`m©`dmMr h¡ :  

(1) {d{Zdoe (Disinvestment)  

(2) A~MV (Dissaving)  

(3) Zrbm_r (Auction) 

(4) ny±OrH$aU (Capitalisation) 

70. Ho$ÝÐ-amÁ` Ho$ {dÎmr` g§~§Ym| H$s g_rjm H$aZo VWm gwPmdm| H$mo àñVwV H$aZo Ho$ {bE {dÎm Am`moJ H$m 
JR>Z {H$`m OmVm h¡, àË`oH$ :   

(1) Xmo dfm] _|  

(2) nm±M dfm] _|  

(3) gmV dfm] _|  

(4) Xg dfm] _|  
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71. The author of the ‘‘Divine Comedy’’ is : 

(1) Homer  

(2) Chaucer  

(3) Dante  

(4) Milton  

72. A poem mourning somebody is known as :  

(1) a limerick  

(2) a sonnet   

(3) an elegy   

(4) an ode   

73. Which of the following poets was not a Bhakti poet ?  

(1) Kabir 

(2) Tulsidas 

(3) Agyeya 

(4) Surdas  

74. Who among the following was a famous playwright ?  

(1) George Bernard Shaw  

(2) Charles Dickens  

(3) T.S. Eliot 

(4) Keats  

75. The earliest paintings of Ajanta Caves date back to : 

(1) Kushana period  

(2) Satavahana period 

(3) Chandela period 

(4) Gupta period 
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71. ‘‘{S>dmBZ H$m°_oS>r ’’  Ho$ boIH$ h¢ :   

(1) hmo_a (Homer)  

(2) Mm¡ga (Chaucer)  

(3) Xm±Vo (Dante) 

(4) {_ëQ>Z (Milton) 

72. {H$gr Ho$ emoH$ H$s H${dVm H$mo {H$g ê$n _| OmZm OmVm h¡ ?   

(1) {b_[aH$ (limerick)   

(2) gmoZoQ> (sonnet) $  

(3) EboOr ( elegy)  

(4) ñVmoÌ (ode)   

73. {ZåZ{b{IV _| go H$m¡Z-gm H${d ^{º$ H${d Zht  Wm ?   

(1) H$~ra 

(2) VwbgrXmg 

(3) Ako`$ 

(4) gyaXmg 

74. {ZåZ{b{IV _| go H$m¡Z-gm à{gÕ ZmQ>H$H$ma Wm ?  

(1) Om°O© ~Zm©S>© em° (George Bernard Shaw)  

(2) Mmëg© {S>Ho$Z (Charles Dickens)  

(3) Q>r.Eg. B{b`Q> (T.S. Eliot) 

(4) H$sQ²>g (Keats) 

75. AO§Vm H$s Jw\$mAm| H$s g~go nwamZr n|qQ>J h¢ :  

(1) Hw$fmU H$mb H$s 

(2) gmVdmhZ H$mb H$s 

(3) M§Xob H$mb H$s  

(4) JwßV H$mb H$s 
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76. Who among the following experimented in techniques of Indian miniatures, frescoes, 

scroll and pata paintings ?    

(1) Khwaja Abdus Samad 

(2) Raja Ravi Varma 

(3) Abanindranath Tagore  

(4) V.S. Gaitonde  

77. Stories and legends about the life of the Buddha are depicted in :  

(1) The Vedas  

(2) Panchatantra 

(3) Hitopdesha 

(4) Jatakas  

78. Epics are usually : 

(1) short poems  

(2) short stories  

(3) novellas  

(4) very long poems that talk about heroes  

79. Literary criticism works in the domain of : 

(1) aesthetic judgement  

(2) legal judgement  

(3) mathematical logic  

(4) principle of induction  

80. The ratios and proportions which sound patterns displayed developed into an order 

called : 

(1) Naad 

(2) Swar 

(3) Sruti 

(4) Raag 



BSHF-101 35  

76. {ZåZ{b{IV _| go {H$gZo ^maVr` bKw{MÌm|, {^{Îm{MÌm|, ñH«$m°b VWm nmQ>m n|qQ>J H$s VH$ZrH$m| _| à`moJ 
{H$`m ?   

(1) »dmOm AãXþg g_mX (Khwaja Abdus Samad) 

(2) amOm a{d d_m© (Raja Ravi Varma) 

(3) AdZtÐZmW Q>¡Jmoa (Abanindranath Tagore) 

(4) dr.Eg. Jm`Vm|S>o 

77. ~wÕ Ho$ OrdZ Ho$ ~mao _| H$hm{Z`m| Am¡a qH$dX§{V`m| H$mo {M{ÌV {H$`m J`m h¡ :   

(1) doXm| _| 

(2) n§MV§Ì _|$ 

(3) {hVmonXoe _| 

(4) OmQ>H$m| _| 

78. _hmH$mì` (epics) Am_Vm¡a na hmoVo h¢ :   

(1) N>moQ>r H${dVmE± 

(2) N>moQ>r H$hm{Z`m± 

(3) CnÝ`mg 

(4) ~hþV bå~r H${dVmE± Omo Zm`H$m| Ho$ ~mao _| ~mV H$aVr h¢  

79. gm{hpË`H$ AmbmoMZmdmX {H$g joÌ _| H$m_ H$aVm h¡ ? 

(1) gm¢X ©̀ {ZU©` (Aesthetic judgement)  

(2) H$mZyZr {ZU©` 

(3) J{UVr` VH©$  

(4) àoaU Ho$ {gÕmÝV (Principle of Induction)  

80. AZwnmV Am¡a g_mZwnmV (Ratios and Proportions) Omo Üd{Z n¡Q>Z© àX{e©V H$aVo h¢, EH$ H«$_ _| 
{dH${gV hmoVo h¢, {Ogo H$hm OmVm h¡ : 

(1) ZmX (Naad) 

(2) ñda (Swar) 

(3) lw{V (Sruti) 

(4) amJ (Raag) 
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81. The text ‘‘Natyashastra’’ was composed by :  

(1) Narad  

(2) Bharat 

(3) Agastya 

(4) Bhrigu 

82. Jatra and Tamasha are folk forms of Indian  

(1) Literature  

(2) Painting  

(3) Music  

(4) Drama 

83. Which three gharanas have promoted Kathak ? 

(1) Lucknow, Jaipur and Banaras 

(2) Kirana, Patiala and Maihar  

(3) Bhopal, Delhi and Kanpur 

(4) Indore, Ajmer and Agra  

84. The basic Swara in Indian music is called :  

(1) Soham 

(2) Shadaj 

(3) Gamak 

(4) Murki  

85. Which of the following is not a raag ?  

(1) Kafi 

(2) Piloo 

(3) Dadra 

(4) Malhar  
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81. _ybnmR> ‘‘ZmQ>çemñÌ ’’ H$s aMZm H$s JB© Wr :   

(1) ZmaX Ûmam 

(2) ^aV Ûmam 

(3) AJñË` Ûmam 

(4) ^¥Jw Ûmam 

82. OmÌm (Jatra) VWm V_mem (Tamasha) bmoH$ ê$n h¢ :>    

(1) ^maVr` gm{hË` Ho$ 

(2) ^maVr` n|qQ>J$Ho$ 

(3)  ^maVr` g§JrV Ho$ 

(4) ^maVr` S´>m_m Ho$ 

83. {H$Z VrZ KamZm| Zo H$WH$ H$mo ~‹T>mdm {X`m h¡ ?  

(1) bIZD$, O`nwa VWm ~Zmag 

(2) {H$amZm, n{Q>`mbm VWm _¡ha 

(3) ^monmb, {Xëbr VWm H$mZnwa  

(4) B§Xm¡a, AO_oa VWm AmJam 

84. ^maVr` g§JrV _| _yb ñda H$hm OmVm h¡ : 

(1) gmoh_ (Soham)$ 

(2) fS>O (Shadaj) 

(3) J_H$ (Gamak) 

(4) _waH$s (Murki) 

85. {ZåZ{b{IV _| go H$m¡Z-gm amJ Zht  h¡ ?   

(1) H$m\$s  

(2) {nby$ 

(3) XmXam 

(4) _ëhma 
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86. Which of the following is a percussion instrument ?  

(1) Pakhavaj  

(2) Sitar  

(3) Esraj  

(4) Sarod 

87. Who among the following was a music composer in Hindi films ?  

(1) Bimal Roy 

(2) Guru Dutt 

(3) Naushad 

(4) Bharat Bhushan  

88. Capability approach to development is associated with : 

(1) Amartya Sen 

(2) Joseph Stiglitz  

(3) Thomas Piketty  

(4) Milton Friedman 

89. The idea of human security includes : 

(1) the idea of national security only 

(2) ideas of local security only  

(3) ideas of civic security only  

(4) ideas of human rights only  

90. Who propounded the ‘End of History’ thesis ? 

(1) E.H. Carr 

(2) Arnold Toynbee  

(3) Francis Fukuyama 

(4) Ronald Reagan  
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86. {ZåZ{b{IV _| go H$m¡Z-gm VmbdmÚ `§Ì (Percussion Instrument) h¡ ?   

(1) nImdO 

(2) {gVma 

(3) BñamO 

(4) gamoX 

87. {ZåZ{b{IV _| go H$m¡Z {hÝXr {\$ë_m| _| g§JrVH$ma Wo ? 

(1) {~_b am°` 

(2) Jwé XÎm 

(3) Zm¡emX 

(4) ^maV ^yfU 

88. {dH$mg Ho$ {bE j_Vm Ñ{ï>H$moU g§~§{YV h¡ : 

(1) A_Ë`© goZ go 

(2) Omogo\$ pñQ>p½bQ²>µO go 

(3) Wm°_g {nHo$Å>r (Thomas Piketty) go 

(4) {_ëQ>Z \«$mBS>_¡Z go 

89. _mZd gwajm Ho$ {dMma _| em{_b h¡ : 

(1) Ho$db amï>́r` gwajm H$m {dMma 

(2) Ho$db ñWmZr` gwajm Ho$ {dMma 

(3) Ho$db ZmJ[aH$ gwajm Ho$ {dMma 

(4) Ho$db _mZdm{YH$mam| Ho$ {dMma 

90. ‘EÊS> Am°\$ {hñQ´>r ’ Wr{gg H$m à{VnmXZ {H$gZo {H$`m Wm ? 

(1) B.EM. H$ma 

(2) AZm}ëS> Q>m°`Z~r 

(3) \«$m§{gg \w$Hw$`m_m 

(4) amoZmëS> arJZ 



BSHF-101 40 

91. After the dissolution of the erstwhile USSR, we are witnessing : 

(1) a unipolar world  

(2) a bipolar world  

(3) a tripolar world  

(4) a multipolar world  

92. The Government of India’s flagship programme for achieving Universal Elementary 

Education is called : 

(1) Operation Blackboard  

(2) Learning Without Frontiers  

(3) Sarva Shiksha Abhiyan 

(4) Each One, Teach One 

93. The Swadeshi Movement started as a reaction to :  

(1) Partition of Bengal in 1905  

(2) Champaran  

(3) Jallianwala Bagh 

(4) The Government of India Act, 1935 

94. The tribes designated by the British as criminal tribes were denotified in :  

(1) 1942 

(2) 1952 

(3) 1957 

(4) 1960 

95. Fundamental Duties were incorporated into the Constitution through the :  

(1) 12th Constitutional Amendment 

(2) 42nd Constitutional Amendment 

(3) 73rd Constitutional Amendment 

(4) 74th Constitutional Amendment 
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91. VËH$mbrZ gmo{d`V g§K Ho$ {dKQ>Z Ho$ ~mX, h_ bmoJ Jdmh h¢ :  

(1) EH$Y«wdr` {díd Ho$ 

(2) {ÛY«wdr` {díd Ho$ 

(3) {ÌY«wdr` {díd Ho$ 

(4) ~hþY«wdr` {díd Ho$ 

92. gmd©^m¡{_H$ àma§{^H$ {ejm àmá H$aZo Ho$ {bE ^maV gaH$ma H$m à_wI H$m`©H«$_ H$hbmVm h¡ : 

(1) Am°naoeZ ãb¡H$~moS>© 

(2) gr_mAm| Ho$ {~Zm grIZm (Learning Without Frontiers) 

(3) gd© {ejm A{^`mZ 

(4) ha EH$ {H$gr EH$ H$mo {gImE 

93. ñdXoer Am§XmobZ {H$gH$s à{V{H«$`m Ho$ ê$n _| ewê$ hþAm ? 

(1) 1905 _| ~§Jmb H$m {d^mOZ  

(2) MånmaU  

(3) Om{b`m±dmbm ~mJ  

(4) ^maV gaH$ma A{Y{Z`_, 1935  

94. A§J«oµOm| Ûmam Amnam{YH$ OZOm{V`m| Ho$ ê$n _| Zm{_V OZOm{V`m| H$mo {d_wº$ H$a {X`m J`m Wm : 

(1) 1942 _| 

(2) 1952 _| 

(3) 1957 _| 

(4) 1960 _| 

95. _m¡{bH$ H$V©ì`m| H$mo g§{dYmZ _| em{_b {H$`m J`m Wm : 

(1) 12d| gm§{dYm{ZH$ g§emoYZ Ûmam 

(2) 42d| gm§{dYm{ZH$ g§emoYZ Ûmam 

(3) 73d| gm§{dYm{ZH$ g§emoYZ Ûmam 

(4) 74d| gm§{dYm{ZH$ g§emoYZ Ûmam 
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96. Which of the following is not a principle of Panchsheel has guided India’s Foreign 

Policy ? 

(1) Mutual respect for each other’s territorial integrity and sovereignty  

(2) Mutual non-aggression  

(3) Mutual elimination of weapons of mass destruction   

(4) Mutual non-interference in each other’s internal affairs  

97. Which are the countries that did not sign the Kyoto Protocol ?   

(1) China and Pakistan  

(2) India and Brazil 

(3) USA and Australia 

(4) Germany and Spain  

98. Gandhiji gave the call to ‘do or die’ during : 

(1) Champaran Movement  

(2) Dandi March 

(3) Khilafat Movement  

(4) Quit India Movement  

99. Who among the following suggested a plan model emphasising labour-intensive 

industries, as a counter and alternative to the Mahalanobis Model ?  

(1) L.C. Jain 

(2) Vakil and Brahmananda  

(3) Amiya Dasgupta  

(4) K.N. Raj 

100. Who was inspired by Charles Darwin’s theories of organic evolution ?  

(1) Émile Durkheim  

(2) Auguste Comte  

(3) Max Weber  

(4) Herbert Spencer  
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96. {ZåZ{b{IV _| go H$m¡Z-gm n§Merb H$m {gÕm§V Zht  h¡, {OgZo ^maV H$s {dXoe Zr{V H$m _mJ©Xe©Z  
{H$`m h¡ ? 

(1) EH$-Xÿgao H$s joÌr` A§IS>Vm VWm g§à ŵVm Ho$ {bE nañna gå_mZ 

(2) Amngr µJ¡a-AmH«$m_H$Vm 

(3) gm_y{hH$ {dZme Ho$ h{W`mam| H$m Amngr CÝ_ybZ 

(4) EH$-Xÿgao Ho$ Am§V[aH$ _m_bm| _| Amngr µJ¡a-hñVjon 

97. Eogo H$m¡Z-go Xoe h¢ {OÝhm|Zo Š`moQ>mo àmoQ>moH$m°b (Kyoto Protocol) na hñVmja Zht  {H$E ? 

(1) MrZ VWm nm{H$ñVmZ 

(2) ^maV VWm ~«mµOrb 

(3) g§.am. A_o[aH$m VWm Am°ñQ´>o{b`m 

(4) O_©Zr VWm ñnoZ 

98. Jm±YrOr Zo ‘H$amo `m _amo’ H$m AmˆmZ {H$`m Wm : 

(1) MånmaU Am§XmobZ Ho$ Xm¡amZ 

(2) Xm§S>r _mM© Ho$ Xm¡amZ 

(3) {Ibm\$V Am§XmobZ Ho$ Xm¡amZ 

(4) ^maV N>mo‹S>mo Am§XmobZ Ho$ Xm¡amZ 

99. {ZåZ{b{IV _| go {H$gZo l_ àYmZ CÚmoJm| na ~b XoVo hþE EH$ `moOZm _m°S>b H$m gwPmd {X`m, Omo 
_hbZmo{~g _m°S>b (Mahalanobis Model) H$m {dH$ën h¡ ? 

(1) Eb.gr. O¡Z 

(2) dH$sb VWm ~«÷mZ§X  

(3) A{_`m XmgJwám 

(4) Ho$.EZ. amO 

100. Mmëg© S>m{d©Z Ho$ O¡d {dH$mg Ho$ {gÕm§Vm| go H$m¡Z ào[aV hþAm Wm ? 

(1) E{_b XþIu_ (Émile Durkheim) 

(2) AJñV H$m°åQ>o (Auguste Comte) 

(3) _¡Šg do~a (Max Weber) 

(4) h~©Q>© ñn|ga (Herbert Spencer)  
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SPACE FOR ROUGH WORK 

aµ\$ H$m`© Ho$ {bE OJh  

 


